hESC GM12878
chimpanzee A . p=0.16 | p=33e-18
gorilla | i p=0.0021 — p=I1.3e-61
orangutan - X p=0.27 i p=4.6e-16
rhesus - - p=1.3e-16 L pP=1.5e-66
mouse lemur - X p=0.048 L p=9.9e-15
Mouse 1 I p=0.00017 - p=0.052 | B
cattle 5 p=0.032 — p=16e-17 | &
manatee . p=0.02 — p=5.6e—36
opOoSSUM A — p=3.6e—20 - p=5e-10
chicken 4 ) p=9.9e-36 —F p=1.2e—60
clawed frog - — p=1e-40 —F p=1.1e-69
zebrafish - - p=1.4e-25 — p=6.7e—40
chimpanzee - I p=0.55 —_‘:lﬁo'ooom
gorilla 4 T p=2.3e-05 p=0.11
orangutan - r p=0.033 L ,n—1 .6e-05
rhesus - I p=0.44 — p=0.00017
mouse lemur - 1 p=0.0047 i p=0.019
mouse A T p=3.1e-11 | | ——— T T——p=6.7e-08 '§
cattle — p=4.2e-08 - p=0.00017 | =
manatee r p=8.6e—07 I p=0.37
opOoSSUM A — p=6.2e—12 - p=4.5e-07
chicken 4 1} p=2.6e-14 —F p=2e-14
clawed frog A - p=0.00059 p=7.7e-09
zebrafish{ —  —TTF p=0.34 & p=0.44
chimpanzee - _$ p=0.0075 ﬂ.:,_-'_—o 35
gorilla A p=3.9e-05 p=0.45
orangutan - $ p=0.0067 - p=0.42
rhesus - p=3.8e—05 Ly p=0.36
mouse lemur - .' p=0.02 r p=8.4e-05 | |
mouse - T p=2.1e-11 — p=3.5e-09 | 8
cattle - r p=1.4e-10 r p=0.023 g
manatee T p=0.12 i p=0.21
0pOoSSUM A . p=3.8e—05 — p=0.00034
chicken ﬂ,—_ p=0.44 == p=0.2
clawed frog - p=NA p=NA
zebrafish - p=NA p=NA
le+01 1e+03 1e+05  1e+01 1e+03 1e+05
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